20204E 1  H AT Pe )\ £ B2

A= |k L—F—F} = AR

ATHE 3

W% 2dmEm | BRI | Ko | FER W [ ERs 60 | W 2
pgy BR KW 4 | mEE T AT A Y7 BT
e R

R
B I CORRER - Fakz AL T, HEEAATRELITVET,

T3 B A

HARAR=YHERNRBT ALVT 47 hL— %Hmﬁ REBAKERELE LET, HARRAR—VIHEAT
TAVT 4w/ hL—)—H mﬁ%@@b#%ﬁ l@ﬁw%W 4B & iz ﬁ%%%%ﬁufﬁ
HORELTWAHikZ iR L #%TE% %ﬁxé@%%bfb%i# E NRE AN
%@L\ﬁmﬁ%A%mﬁmﬂ&E@W SEHBELET,

BEHE

2 SE MR IR I RE %%w\%%%Tfﬁ%z%?%xhﬁgﬁfﬁi%biﬁw4 A NNBEDEE)
WMdégc%@W§®EMF%% DICDITHRENFICAI L2 LA — FREZ R L TV & F9 (7 F A b
WEDOREEE) , [Plan]fi#& [Do] —%& 2 #& L [Check] —MF5C [Action] DVEZENEER 24 D I L CHIFR D E#E % B
FBLET,

AR 5 1

FRliBR - LAR— b - SRR

E@L@&%

RENRFIZ otﬂﬁﬁﬂHT%XF&Uﬁ%%%ﬁﬁbf<%éwoit LR — RIS LA —
i&@b;%ggéi TR LTS, BERFED 475 ®3uiﬁﬁbﬁ“%imﬁﬁ% = BR

B EEM
AARAR=YHRRNRBT AVT 4 v 7 b L—F =T X h RENFICEOE TERZ B

1% PR
~ 2 [l (L)

551 8]
~ 4 [alfEARR OoH)

% 3 [l

~ 8 [AlE )& D RE & fiEH




20204E 1  H AT Pe )\ £ B2

A= |k L—F—F} = AR

ATEYE 3
~ 1 2[R AR—TIME « [EED FAE %
59 A
~ 1 4 [EAF— 5
%1 31A
~ 1 6 [FIfEFEEH L AR — Y EE
%1 5[A
1 71A
~21W7T7AVT 4y 7 UNED)T— 3
%1 81H
~ 2 3[R (FERR)
%2 21\
~25EFilarraa=r
%2 41\
~ 2 7[ElkAE - E & F
%2 65
KL —= 7R
%2 81A
~ 3 O [FIfHEERER (S H)
2 9\




